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 BBCCT-111  

 

B.Sc. IN BIOCHEMISTRY (HONOURS) 

(BSCBCH) 

Term-End Examination 

June, 2022 
 

BBCCT-111 : MEMBRANE BIOLOGY AND  

BIOENERGETICS 

Time : 3 hours Maximum Marks : 70 

Note :  Question No. 1 is compulsory. Attempt any  

five questions from questions no. 2 to 8. 

 

1. Define in 1 – 2 sentences : 52=10 

(a) Membrane Micro-domain 

(b) Bio-energetics 

(c) Detergent 

(d) Thermogenesis 

(e) Light Harvesting Complex 

2. (a) How does facilitated diffusion differ from 

active transport ?  6 

(b) How does cholesterol affect membrane 

permeability ? 6 
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3. Explain the functioning of Na
+
 – K

+
 pump. 12 

4. (a) What is lipid raft ? What is its significance ?  8  

(b) Name any four inhibitors of electron 

transport chain and mention their site of 

action.   4 

5. (a) Draw a well-labelled diagram of chloroplast 

and explain its structure. 6  

(b) List the contribution of any three scientists 

in photosynthetic research.   6 

6. Describe ligand-gated ion-channels. 12 

OR 

 Describe the process of receptor-mediated 

endocytosis. 12 

7. Differentiate between any two of the  

following : 26=12 

(a) Rotational and Lateral Diffusion 

(b) Channel and Pore 

(c) Extrinsic and Intrinsic Proteins 
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8. Write short notes on any two of the  

following : 26=12 

(a) Liposomes 

(b) TNBS Labelling 

(c) Cholesterol 
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 ~r.~r.gr.gr.Q>r.-111  

O¡d-agm`Z _| ~r.Eg gr. (Am°Zg©) 
(~r.Eg.gr.~r.gr.EM.)  

gÌm§V narjm 

OyZ,  2022 

~r.~r.gr.gr.Q>r.-111 : H$bm Ord{dkmZ Am¡a O¡d-Am¡{O©H$s 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 70 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 8 _| go {H$Ýht  
nm±M àíZm| Ho$ CÎma Xr{OE & 

 

1.  1 – 2 dmŠ`m| _| n[a^m{fV H$s{OE : 52=10 

(H$) H$bm gyú_-àjoÌ 

(I) O¡d-Am¡{O©H$s 

(J) An_mO©H$ 

(K) VmnOZZ 

(L>) àH$me g§J«hU g§Hw$b 

2. (H$) gwJ_ {dgaU {H$g àH$ma g{H«$` A{^J_Z go {^Þ 

h¡ ? 6 

(I) H$moboñQ>́m°b {H$g àH$ma H$bm nmaJå`Vm H$mo à^m{dV 

H$aVm h¡ ? 6 
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3. Na+ – K+ n§n H$s H$m`©nÕ{V H$s ì`m»`m H$s{OE & 12 

4. (H$) {b{nS> amâQ> Š`m hmoVo h¢ ? BgH$s _hÎmm/gmW©H$Vm 

Š`m h¡ ? 8   

(I) BboŠQ>́m°Z A{^J_Z ûm¥§Ibm Ho$ {H$Ýht Mma g§X_H$m| Ho$ 

Zm_ {b{IE Am¡a CZH$s H$m`© ñWbr ~VmBE & 4 

5. (H$) h[aVbdH$ H$m gwZm_m§{H$V AmaoI ~ZmBE Am¡a 

BgH$s g§aMZm H$s ì`m»`m H$s{OE & 6   

(I) àH$me-g§íbofr emoY Ho$ joÌ _| {H$Ýht VrZ d¡km{ZH$m| 

Ho$ `moJXmZ H$s gyMr ~ZmBE & 6 

6. {bJÝS> Ûm[aV Am`Z-M¡Zbm| H$m dU©Z H$s{OE & 12 

AWdm  

 J«mhr-_Ü`ñW A§V…H$mo{eH$Vm H$s à{H«$`m H$m dU©Z H$s{OE & 12 

7. {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ ~rM AÝVa ñnï>  

H$s{OE :  26=12 

(H$) KyU©Z Am¡a nmíd© {dgaU 

(I) M¡Zb Am¡a a§Y« 

(J) ~mø Ed§ Am§V[aH$ àmoQ>rZ 



BBCCT-111  6 

8. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±  

{b{IE :  26=12 

(H$) dgmH$m` 

(I) TNBS {M•Z 

(J) H$moboñQ>́m°b  

 

 


